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Questions 1: Choose the correct answer, by putting a circle around the correct
letter. [10 points]

1. Say that there are three classes: Computer, AppleComputer, and
IBMComputer. What are the likely relationships between these classes?

—> A) Computer is the superclass, AppleComputer and IBMComputer are
subclasses of Computer.
B BMComputer is the superclass, leComputer and Computer are
subclasses of IBMComputer.
Computer, AppleComputer and IBMComputer are sibling classes.
Computer is a superclass, AppleComputer is a subclasses of Computer,
and IBMComputer is a sublclas of AppleComputer.

2. given the value of n =4 how many times is the recursion method is called
including the initial first call of multiplyEvens(4)

public static int multiplyEvens(int n)

=

rn 2 * n * multiplyEven - 1);:
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5. The t .
. recursion refers to Programming technigue involving:

A) For loops

B) While loops -
CC)_A method that calls itself ) e

D) Nested if statements e W

6. The output of the i mplementation phase of the software life cycle is -

——

A) The users have installed the program and are using it. -
B) A description of classes and methods.
Completed program code) \/
D) Performance measurements.

is often described as the is-a relationship.

— A) Inheritance.
B) Aggregation.

C) Polymorphism.
( D) Dependency. @ )

8. After one iteration of selection sort worki
must hold true?

ing on an array of 10 elements, what

is simila to a class, but there are several important
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3. An infinite loop will occurs If recursive method does not have a base case M) /"M1
We can convert subclass reference to superclass reference. T‘ﬁ 77 4
-
A class can implement more than one interface [ 1 S
—

Questions 3: Short answers questions
1. What is the output of the following Java code:
- - |5 points]

class Base {
public void show() {
Erﬂtﬁn.uut.println{"ﬂaaa::ﬂhuut} called™);

LA

d main(String[] args) {
Lved() ;




niversity
College of Compuring and Informatics

2.
What are the two key requirements for recursion success?
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3. List (in order) the different phases of the development
process for the
software life cycle IS points]
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Questions 5: Write 4 Program representing the following UML diagram

(12 points]
Shape
coelor
BetAreal )
Circle Rectangle |
diameter width
height
BetArea( )
getAreal )

- Remember that Shape class has color instance variable, so you have to consider it
when you build Circle and Rectangle constructors.
- Note that getArea method is available in the three classes, and you have to implement
them differently. In the shape class, let getArea method print *Can not define the
area!”. In the other subclasses let getArea method calculate the area based on the
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